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BBh 23331 AFT ND ND ND
=EEWH 23331 a1 ND ND ND
RBilrh 23.3.31 =5 100 ND ND
BLTH 23.3.31 AA 130 44 13
LbhEih 23331 AFT 300 170 170
=hok 23.3.31 =3 270 21 9.6
ARNT 23331 Fa) ND ND ND
AGIWH 23330 T 92 30 21
EEA4W 23.3.31 FRINSHR ND ND ND
HEH 23.3.30 AFT 170 20 29
=&k 23331 *aol 21 ND ND
R o) 232331 AF3 12 ND ND
FEH 23.3.31 AP ) ({10 70 7
fEH 23.3.31 Sy TURS 26 ND ND
{FEd 23.3.31 AFYTIURY 15 ND ND
EH 23.3.31 TANRSHR ND ND ND
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g4y 23.3.31 AFT 5.3 ND 6.2
= RHEr 23.3.31 =5 220 12 3
JI =BT 23.3.31 25/ % 14 ND ND
REH 23.3.31 AF3 ND ND ND
E1:2 =10) 23.3.30 AF 11 ND ND
XEH 23.3.31 =5 200 19 14
T SHET 23331 =3 26 ND ND
=2y 23.3.31 avww ND ND ND
[iEy=2i)) 23.3.31 RIS 9.1 ND ND
ZEr 233.31 o F ND ND ND
A2 ERHT 23.3.31 1)—JLA2R 37 ND ND
HECET 23.3.31 wILYD 180 1" ND
SRIRTHY 23.3.31 N—=JL&A 13 ND ND
BN 23.3.31 y—LERA ND ND ND
=R BET 23331 R U 54 _ND ND
FaEH 23.331 w3 47 37 20
R 23.3.31 FaHy ND ND ND
SKIEH 23.3.31 YN 180 80 98
rh & 23,3.31 RILYY 800 190 190
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KURAT 23.331 <k NO ND ND
RErT 23.3.31 1FT ND ND ND
REEF 23.3.31 AFT 8.2 ~ND ND
=1 ) 23.3.31 AFd . ND ND ND
&#H 23.3.31 avwvd 300 35 46
BINET 23331 =5 410 67 60
EINH 23.3.31 kek ND ND ND
THEF 23331 YRAYE 320 70 67
Ear. 233.31 Fary) ND ND ND
=1L 23.3.30 St 8 q 3 62 ND ND
=F0T 23331 AFI 6.0 6.0 0
/ERHT 23.3.31 :v'yﬁ- 240 1o {10
il ) 23.3.30 =5 360 16 18
BRERHT 23331 F5/%5F ND ND ND
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